DC Model Train Block Occupancy Detector
Minimum Current Detected = +100mA and -100mA

Time to Detect a Train =
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R6 sets the current threshold
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Disconnect track power from J2 and adjust R9
until the voltage at D is halfway between B and C.
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Vout = B.5V when Iin = -5A
Vout = 2.492V when Iin = -20mA
Vout = 2.5V when Iin = BA
Vout = 2.508V when Iin = +20mA
Vout = 4.5V when Iin = +5A
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R6 Value - Current Threshold

825 - 108mA
619 - 75mA
412 - 5@mA
165 - 20mA

82.5 - 10mA not recommended without
adding hysterisis

Window Comparator
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Final Conversion Ratio = 1VU/A
R4-C4 form a 11.3Hz LPF
Transient Response = .1 Second
Vnoise = 370uVrms in 11.3Hz BW

This output floats high until a train is detected.
A train is detected when amplifier output is > than B OR < C.
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